Honors Chemistry Name: K EY
Standard Heats of Formation

Heat of Formation Worksheet
Use a standard enthalpies of formation table to determine the change in enthalpy
for each of these reactions.
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Compound AH; (kJ/mol)  Compound  OHr (kJ/mol)
CHa(g) -74.8 HCl{g) 92.3
COxg) 3935 H0() 2418
NaCls)  -411.0 $Ox(g) -296.1
H0(D) 2858 NHCls)  -315.4
H,S(2) -20.1 NO(g) +90.4
H:S504() -811.3 NOa(g) +33.9
MgS04(s) 12782 SnCL() -545.2
MnO(s) -384.9 S$nO(s) -286.2
MnO:(s) 519.7 Sn0:(s) -580.7
NaCl(s) 4110 SoM@ - 2961
NaF(s) -569.0 SOs(g) 13952
NaOH(s) -426.7 ZnO(s) -348.0
NHxg) -46.2 ZnS(s) 2029

Book Problems: 55, 57, 59, 60, 61, 62, you will need to use the AH values on the table in
the back of the text.



